o 2018 (A) ;}g-f), A

SSC PART-| (9th CLASS) 3 a1,
GENERAL MATHEMATICS GROUP-| be - .;:/ o‘w 7
TIME ALLOWED: 2.10 Hours SUBJECTIVE ¥~ 210 =
MAXIMUM MARKS: 60 60 = Af
NOTE: - Write same question number -9(-,-»;}2;.4.;'&.63_5 a/:ﬂi:zl:!/'Jlnﬁ:{QKL}'z 0y

and its part number on answer book, as given in the question paper.
SECTION- (s.»
2. Attempt any six parts. 12=2x6 Eifenlinge i 2y
()  Express 126 as percentage. £ C wﬁf ﬂd/ 1.26 (i)
(i) If 3 ofthe students inaschool have been away & PN fridungt L2 Y SV
for a holiday. How many students in every hundred were on holiday?

(i)  Define Ratio. LaMled (i)
(iv) Define Nisab of Zakat JJ/‘.&LUL' (V)
(v)  Calculate the amount of Zakat on an amount of Rs.500,000. é fv"amﬁoz_ 2500000  (v)
()  Define Profi. LA

(vii) A Bicycle was purchased for Rs.3450 :fr%g < V.chs.u 3850 mu"m,uu 3450 f’ L.u (vii)
and sold for Rs.3850. Find profit percentage.
(vill) A book is sold for Rs.650 at a profit of 30 %. & fm\&é-bf S8 650 48%/.5 30 UL (vill)

Find cost price.
(ix)  Define On-line Banking. ‘ @ & -”/'Uwé’u;ﬂw (ix)
3. Attempt any six parts. 12=2x6 //..wéwc.uf 3y
(i)  Convert Rs.5,00,000 into Euro el 12.4088 = -a!.f‘ {0 g L i w’/a.udt/ \ 5,00,000 {i)
if 1 Euro = Rs.112.4088
(i)  Define Excise Duty. Ea diu )
(i) Acomputer priceis Ve eSO 1% 2 epu 8030l i)
Rs.34800 inclusive of 16 % sales tax. What is the original price of the computer?
() Wite 50,00,000 in scienific notation. Epdid som, 000 (¥
(v) If logx=0.1597 thenfind x Eeedf x wlogx=01597 /1 ()
(vi) Solve. log243 log243  LF (v
log9 log9
(vii)  Define Infinite Sequence. Epnsd il
(i) Find first two terms of a, = - ik a, = i
(i) Find GM between 9 and 5, EPd el 649 ()
4. Attempt any six parts. 12=2x6 éx/.u;[_rmc.d)’ A4y
()  Define Universal Set. ‘{J/JJM (i
(i)  Define Complement of Set s Ler i)

( 2.' Jﬂ)



(i)

(iv)
v)
vi)
(vii)
{vili)
{ix)

(2) .

IF 8 =1{4,689}and I BUC e = {3,457} B={4.689}/ i)
C={34.57} thenfind BUC

Using formula convert 20°C int®F. IR OF L 00 Lal S irs ()
Represent the point D (4, 4) on graph paper -4,5:543_&4/7 D(4,4) 5 (v
What is Ordered Pairs? Wl ity ()
Define Mode L (i)
Define Geometric Mean. -QLQ)JMIQ/' (vii)

Find the Mode for the given data8, 2, 4, 3, 4, 5.4,5.  .£AaK 624,345 4 5 2w (i)
SECTION-II py.2

NOTE: - Attempt any three questions.  24=8x3 -égfaglﬁéamrufa.&( iy

5.(A)

(B)

8.4)

(8)

T.1A)

(B)

8.(A)

(8)

9(A)
(8)

Six men can paint a house in ?éq/&’,{fu:.:/i' H;gf’l.vf:./\)’!?ofﬁ .Vgéxﬁ’a)‘.‘uiugf):{‘dﬂ 6 (J.5
four days. How long it would take to paint the nouse if three men are employed?

130 5000 & {s I Se s 40000 IS it biTigsreli 40 e 10 ()
Calculate the amount of Zakat on 10 tola gold and 40 tola silver, if the rate of gold is Rs.40000 per tola
and the rate of silver is Rs, 5000 per tola.

Distribute Rs. 200,000 as a profit o 3-6)95// UL lg*,‘:r(';(&.u 200,000 LSFE (JH).6
among three persons. If their shares areintheratio 3: 2

-rl/ &/rwf Jv;/ 4_629(@/ i ’4(,/.9» slo LuS000 L (L)
Waseem invest Rs 5000 at compound profit rate s 2 Y% per annum ‘Q
Find the amount at the end of third year. Oé/

N o) iR
“;é(wf}qq ey 50 2k 16% LA -:_zf;u 3500 A ML ()T
The price of a bicycle is Rs.3500. If 16 % sales tax is charged, then calcutate the amount of
saies tax on 50 such bicycles.

Solve with the help of logarithm table. 2—‘384—’;;& .g?.’fc .uJJu;Z.(? /] ()

If three A Ms between -é()”.:.fd' b o a ?stng"fgf 134 95 ghwl b sla sl ()-8
a and b are5, Sand13thenfind « and &
B={23579} # U={12,3,4---=12}+ 4={234628910} J ()
(AUB)‘ =ANBE f1/etd
Fa=1{2.3.4678910}, U={1,234---12}and B={23579}
then provethat (4UB) =4NB°

Drawthe graphof »=x — 1 EON y=x-1 (Ui
Find the standard deviation for the values EIAL L 1,23, 46,8 1 ()
1,2 346 8 1.

33-2018{A)-10000 (MULTAN)



2018 (A) C A
SSC PART-| (9th CLASS) E '

GENERAL MATHEMATICS GROUP-I - enf iy
TIME ALLOWED: 2.0 Hours SUBJECTIVE EL» Zao =
MAXIMUM MARKS: 60 60 = Af
NOTE: - Write same question number ke I RE Lt s o

and its part number on answer book, as given in the question paper.
SECTION-| .2

2. Attempt any six parts. 12=2x6 -s’.g.f/-'a&’:télm{c.éf 24

(il  Express :—g ; % in its simplest form. -w‘g Ll }% : ,53 ()]

(i) Increase 40 books in the ratio 5 4, S TS 40 LS 5:4 (i)
What would be the number of increased books?

(iii)  What is meant by Compound Proportion? el wbely (i)

(iv)  Whatis meant by Zakat? t'q_;yy}.sf) (iv)

(v)  Whatis meant by Inheritance? Q ) leddle At )

(vi)  Distribute a business profit of %35 %Jﬂ&dfg{f-" ;}:u'\;"lufr(g%u 33000 LaskLl  (vi)
Rs.33000 among three persons if their shares are in the fatip.3 : 5: 3.

(vi)  Find the selling price when MP = 395,75, 305763 e dltn « 8% = oo BEenicd (i)
discount=8 %. ; /)’Q )

(vill) If a television is purchased for Rs 6580 Pl ixg’.-.s,,\,%saso Sidfin 8500 LS (i)
and sold for Rs.8850. Find the profit percentage, veo) %

{ix)  What is meant by Commercial Banking? 4' . fe iy k’c.uséu"/’ : (ix)

3. Attempt any six parts. 12=2x6 -g'f.:;, .;Llﬁé!z’{c.&” 34w

() Ifthe simple profiton Rs 840 for Ee i i 4 Bl Lhv 1240800 /1 )
12 yearsis Rs.384. Find the rate of profit percentage.

(i) Define Direct Tax 719 SN

(i)  The annual income of a flat is ..';Gh’uggj{'gl:lJG&C/"J 18 % ~¢-& 1400000 el (i
Rs.14,00,000. Find the payable property tax at a rate of 16 %. )

(V) Wite in scientifi notation 2568324 LRSS s (W)

(v)  Convert log,% =-2 into exponential form. J‘&fqu-h’ log,% ==2 (v

(vi) If logx =0.1597 then find the value of x Edl x Je logx=01597 S )

(vii)  Find the first three terms of @, = + 3 EilES a=ne3 i)

(vili) Find AM. between 4 and 8, S (AM) b sl 4 48 (vil)

(i) f a=5,a =61and n=15 Eedl d LLAP i n=15 s a =61 ca=5/ (i)
thenfind « forAP
(2.' Jl.‘)



(2)

4. Attempt any six pars. 12=2x6 Efenlimgelf Ay
(i)  Define Universal Set. .é J/U’...n,hxg (i)
i) I A={2345}and L a-BB-akB={2468) #4={2345}0 (i)
B=1{2.4.6.8 | thenfind -4, 4-B
(ii)  Write De-Morgan Laws. Bhicdis i
(¥) Convert 20°Cto ©F Lk oF f 2% ()
(v)  Drawthe point 4(3, ~2) on graph paper. Epbaok 46.-2 8
(vij  Define Abscissa LAl W)
(vil)  Find the range of the data 10, 8, 9, 6, 22 Ene{10.89,6,2 (i)
(vii) Findthemodeof 6, 2, 4, 3, 4,5 4, 5 LEAPKG, 2,4, 3,454 5 (vil)
(ix)  Wite two properties of arithmetic mean. .J‘ﬂ.. _Lp’;andL? (ix)

SECTIONI (0.

NOTE: - Attempt any three questions.  24=8x3 -.égfoglziavlrufc_éf oy

5.(A)

(8}

6.(A)

(8)

7.(A)

(8)

8.(A)

(8)

9(A)
(B)

The priceof 15 suts iSRS 6780, 12 afe it X\ 2in 4050 e 6750 i 15 L (G5
How many such suits can be purchased by an amount of Rs.4050?
é(}” Jts,uﬁ.f e V-é.u 20,060,000 &LJMJJ 5 st ¥ Z.»nlog.f é(.‘t.uj #¢ f
The inherited property amounting to Rs.20,00,000 is left by a deceased. He left behind a widow and
two sons, Workout the share of each.

Distrioute Rs.2,00,000 as a profit in a %32 Q’ ,cu,»’éw 'c{,"f&.s, 2,00,000 LSFL ()6
business regarding three persons, if their shares are in the

Find the compound profit on Rs.54000 for éfkev;,%})f,uv 12% £lJvlyen 54000 (5)
one year at the rate of 12 % per annum, @

é /k/w(v o/ 30 a}mu ﬂ/k;.gfu 16% /}’VU'/J/ %» 4000 JJ\ftr /'..f (.7
The price of a tricycle is Rs.4000, If 16 % sales tax is charged, then calculate ﬂ\eafﬁmlofmlestax
on 30 such tricycles.

Solve with the help of logarithm table :.3_::55.;._99_1 -éi;uJJw[jf" (&)
18 and 12 are two A Ms between b s aTusbaFh 12 ABuwsl b A a ()8

a and b . Find aand b
C={2,35} # B={117.19.23 }« A={L71L1517,21 } A (<)
(ANBNC = ANBNC) SEeibin
Fa={L7n1517,21}, B={1L17,19,23 } ad ¢={2.3.5}
then verify that (AN BINC = AN(BNC)

Draw the graph of an equation y=x + 7 .2;:1.)!/‘&' y=x+7 ohie ().
Find the variance for the values 1, 2, 3, 4, 6, 8, 1. . &£ 2dL 1,23, 4,68 11 s ()

35-2018(A)-17000 (MULTAN)



PAPER CODE 2018 (A) Q/,g';@ A

' -
NUMBER: 1261 SSC PART-| (9th CLASS)
GENERAL MATHEMATICS GROUP-I e - _:3/( a2
TIME ALLOWED: 20 Minutes OBJECTIVE d‘)/.ﬁ 20 =
MAXIMUM MARKS: 15 15= /JVF
T o) Fahr il Sl itarie B il s vl v s QEHE LD/ CIBIA .'_5'2;6.'91..,"&7 SOy
gaidnn .t’;.yp.,&;q"'.)i;':.;..r-‘.,v‘.'_ ok r, 20 -fﬂ;!‘n&__.'ﬁ!//.uc.‘-af.fr'...’z Sk v L L sintie. i 2

Note: You have four choices for each objective type question as A, B, C and D. The choice ..,;z'lJ’)fg.-;. Uiy
which you think is correct, fill that bubble In front of that question number. On bubble sheet, use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. Attempt as
many questions as given in objective type question paper and leave others blank. No credit will be awarded

In case BUBBLES are not filled. Do not solve question on this sheet of OBJECTIVE PAPER,

Q.No.1 A A

(1) 20 % of 800 is:- - 20% ¥ 600 (1)
(A) 12 (B) 120 (C) 20 (D) 200

{21 Lowest form of 75 85 is:- ...V o 7Tl 75195 (2)
(A) 15:17 (B) 17:15 (C)19:15 (D)15:18

(3) Zakat deducted on an amount of Rs.1,00,000 is - .g&iﬁ;y’:{%u 1,00,000 (3)
[A) Rs.2500 (B) Rs 25000 (C) Rs.2000 (D) Rs.15000

(4) On a crop produced on Natural resources, Ushr is dedu the rate of - .c.v/y//;, du_f‘;”'uwn (4)
[A) 25% {B) 5% (C) 1 . (D) 20%

(5) Loss is there when - /®/~ -J@_wu’i (5)
(A] SP= CP (B)SP < CP A SDad = picd By st <uid
(C) SP>CP [D)SP=MP () .,s,).,z@ ..z (D) Hied = 2dpuges

(8) An instrument for payment order issued by a bank =0 :f;.' I J;v 0«\- b’;.c»d..m/fb’ [ /J..Lg {8)
on the request of its customer is called -
(A) Pay order .1 l:.. {B) Cheque Book ..«.....; (C) Deposit slip .)—\;_IJ c’ 4, (GfCurrent account &¢ies)

(7} The company undertz_akmg act of insurance is called - -gdu» ey \bu, vJﬁ.erf’ (7
{A) Insurance 7  (B) Insured 5 (C} Insurer .. (0) lnsuranoe policy (=i

(8) Taxes of the form of duties like motor vehicle taxes, are cailed - 8 .J R ”* " "m {8)
(A) Indirect tax Z41¥, (B) Direct ax Jc..'u,u (C) Property tax Bt (D) Income tax 1

(8] The taxin addmon to the price of the articie is called - -t {f Ju.;:.,lc;;,( {9)
(A) Tax (B) Sales tax f % (C)Income tax ,2 i (D) Excise duty (yiiLs

(10} In4% 4is called:- 2 34![ 4245 (10
{A) Base JV! (B) Exponent Ve s (C) An integer uf‘ (D) Radical .+

(1) Thirdtermof a, =n+3 is- e .,U',:'J a,=n+3 (1)
(A) 3 (B) 9 (C) 6 (D)0

(12) AMbetween 5.5 and 2V5 is- B L 25 4 65 (12)
(A) 35 (B) 945 (C) 7V5 D) 45

(13) (4NB)Y =9 (4n8) =2 (13
(A} 4' NB 8 (4uB) (C) 4'U# D) ¢

(14) For y=2in 2x - y =6 then x =2 x=2ed, y=2 L d-y=6 (14
(A) -4 (B) 4 (C) 2 (D) -

(15} The middie value of the data arranged in numerical order is called - -q.Jue’-.,Ede’,,Csrr.;m(’ (15)
{A) Mode »b {B) Mean b (C) Geometric Mean s+~ (D)Median wie-s

33(0bj)( 77 }2018(A)-10000  (MULTAN)



PAPER CODE 2018 (A) g,g/ A

NUMBER: 1262 SSC PART-| (3th CLASS)

GENERAL MATHEMATICS GROUP-I b < f Sl

TIME ALLOWED: 20 Minutes OBJECTIVE u’)/’y 220 =

MAXIMUM MARKS: 15 15= Af
Ac 54 /:‘vfl/")j‘;’;’,i’s‘:v'r!&f.’-'bg‘ J)f':éé.;.‘.’.irﬁg"n{;éf ” -u_.'éé.: D, CBA .:i'}!.'fzyﬁvl",f -

L3¢ .ngg:vﬁ’giJ:LC;delﬁi :C':.?b Ot R LSl S Sk | L e ) L2
Note: You have four choices for each objective type question as A, B, C and D. The cholce -..(.&.)’Z'N. vy
which you think is correct, fill that bubble in front of that question number. On bubble sheet, use marker or pen
to fill the bubbles, Cutting or filling two or more bubbles will result in zero mark in that question. Attempt as
many questions as given in objective type question paper and leave others blank. No credit will be awarded
in case BUBBLES are not filled. Do not solve question on this sheet of OBJECTIVE PAPER.

Q. N01 . ALy
(1) % in terms of percentage is:- -:g,-..u.'ﬁ,(yé % 1)
(A) 35% (B) 70 % {C) 40 % (D) 20 %
2) Inarato a:h , b iscaled- S b L arh e )
(A} Extreme &;’! (B} Antecedent us.;’d"*' (C) Mean i (D) Consequent K )
(3) Zakatis deducted at the rate of - LLAHGE @)
(A) 25% (B) 35% C)45% (D)55%
{4) On a crop produced with artificial resources Ushr is Q?ed =4 d:f L/J/{J'}Gr JM‘-&'NJ’“ (4)
attherate of- (A) 5% (B) 10% ( @Z (D) 25 % )
{5) CP=7 /\i\ ¢ = pled (5)
100x SP 100x eSsfed . G-
N (B) Loss - SP (Q(R)o ol (B) 2dyied -
(C) MP + Discount (o) D0xdeeout i J%..» v D) 10r2A
MP .JW:/.)
(B) The periodic instaiments to be paid by the insured is cafled:- &Q\qu (J'c..a’:ﬂ!...:)‘, L (B)
() Bonus % (B) Discount 24€3  (C)Premium £ (D) Mark up

(7) A machine instalied by the bank to dispense cash focustomer -c.dlb «c.df’:'/..{ i'&m’u- W o
iscalled- (A) Computer );_{’ (B) Scanner /’ {C)ATM il (D)Cardreader ,4/56

(8) The tax charged on all the taxable income is calied:- -q.ﬂb" ~c..rbs(ud 'fn}q w./ nw  (8)
(A) Sales tax f;&' (B) Direct tax f./w (C} Income tax ’?7 (D) Excise duty_ Jﬁ/u'

(8) The tex in additon 1o the price of an article is calied u‘qffﬁ d“\):Jva 9
(A) Tax gj (B} Sales tax |/ i” (C} Income tax Jg f (D) Excise duty dgslw

(10} In J3 , 3is caled:- 2 - B S ([
(A) Radical i (B)Radicand »%  (C) Integer s4(> (D) Natural number 1,4

(M) __is a, i3 7, 11— e a4 BT M (1)
(A) 3 (B) 19 (C) 23 (D) 20

(12) GMin 1 and 8 is- el 801 (12)
(A) 242 (B) £22 (C) -2¥2 D) V2

(13) If A={4 }and U=1412,3,4} then 4% =2 AS=20 y={12.34)sd={4} ) (13
(A {1,2,3} (B) ¢ (C) {1} © {1.2.3,4 }

(14) Byputting y =1in 2v + v=6 then y =2 V=7._?_, x=1 L 2x+y=6 (14)
(A) =4 (B) -8 (C)4 (D)8 )

(15) The score which occurs most often in a set of data is called:- .4‘.31:[ e pie e fniaedy  (15)
(A) Mode sk (B) Mean bl (C) Median s (D) Geometric mean b1}~

35(0Bj)( 7 )-2018(A}17000  (MULTAN)
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